Solomon's Theorem & consequences (Kane
§ II.22)
Shephand & Todd (1955) observed the following
stronger generating function result, but could
only prive it case-by-case via their classification;
L. Solomon (1963) gave an insightful proof.
THEOREM For a C-refn group
$$Gi = Gln(C)$$

with $C[x]^G = C[f_{3,...,fu}]$, one has
of degrees : $d_{3,...,dn}$
 $\sum u dm(V^2) = \prod(u+(d_{i-1})).$
 geG
 $set u=1$
 $in G$
 $i=1$
 $\sum u dm(V^2) = \prod(u+(d_{i-1})).$
 geG
 $i=1$
 $\sum u dim(V^2) = \prod(u+(d_{i-1})).$
 geG
 $i=1$
 $\sum u dim(V = Gi acting an
 $V = Cin$
 $V = Cin (u+(d_{i-1})).$
 geG
 $i=1$
 $\sum u = \prod(u+(d_{i-1})).$
 $i=1$
 $i=1$
 $\sum u = i = (u+i)(u+2)-(u+u+1)$
 $k=1$
 $signless$
 $Shifting numbers
 $d eft kind$$$

Solomon's proof considered Gacting on these...
DEF'N:
$$\Lambda(V^*) = \Lambda V^* = \Lambda \langle y_{i_1}, ..., y_{i_n} \rangle =: \Lambda \langle y \rangle$$

 $= exterior algebra on
a C-basis $y_{i_1, ..., y_{i_n}}$ for V^*
So $y_{i_1} y_{i_1} = -y_{i_1} y_{i_1}$ anti-commutative
and $\Lambda V^* = \bigoplus \Lambda^{h_i} V^*$
 $h^{*o} Y^*$
 $h^{*o} Y^*$
 $h^{*o} Y^*$
 $h^{*o} Y^*$
 $h^{*o} Y^*$
 $h^{*o} Y^*$
 $h^{*o} Y^*$
Then one also has the superalgebra on V^*
or polynomial tensor exterior algebra (or attenuents) toms
 $h^{*o} Polynomial tensor exterior algebra (or attenuents) toms
 $h^{*o} Polynomial tensor exterior algebra (or attenuents) toms
 $h^{*o} Polynomial tensor exterior algebra (or attenuents) toms
 $h^{*o} Polynomial (ensor exterior algebra (or attenuents))$
 $h^{*o} Polynomial (ensor exterior algebra (ensor exterior algebra (ensor exterior))$
 $h^{*o} Polynomial (ensor exterior) (ensor exterior)$
 $h^{*o} Polynomial (ensor exterior) (ensor exterior)$
 $h^{*o} Polynomial (ensor exterior) (ensor exterior)$
 $h^{*o} Polynomial (ensor exterior) (ensor exter$$$$$$$$$$$$$$$$$$

THEOREM When a C refin group G with

$$C[x]^G = C[f_{1,...,f_n}]$$

acts on $C[x]@ Ky > viz linear substractions,
the G-invariant subalgebre.
 $(C[x]@ Ky)^G$ is a free $O[x]^G$ -inodule
on basis $[df_{i_1} \land ... \land df_{i_k} : |s_{i_1} < ... < i_k \le n]$
where $df := \sum_{T=0}^{n} \frac{2}{T_{T=0}} \frac{2f}{dx_1} @ y_1 := \frac{2f}{dx_1} @ y_1 + ... + \frac{2f}{dx_n} @ y_n.$
In other words,
 $(C[x]@ Ky)^G \cong \bigwedge_{C[x]^G} df_{i_1} > ..., df_{i_k} > ..., df_{i_k}$
 $externer algebra over $C[x]^G$
on in generators
EXAMPLE G= $T_2(m) \cong G(m, m, 2)$
 $= i[[s^{i_k} s^{i_k}], [s^{i_k} s] : k=0, 1, ..., M-1]$
has $C[x]^G = C[x_1 + x_2, x_1, x_2]$
then $C[x]@ Ky > =$ free $C[x_1, x_2]$ -module on basis
 $i_1, y_1, y_1, y_1 Ay_2]$$$

and Solomon's Theorem says (C(x) & N(y))G = free C[x1+x2, x1x2]-module on basis dfindfy= { 1 $\frac{\partial f_1}{\partial x_1} \partial y_1 + \frac{\partial f_2}{\partial x_2} \partial y_2 =$ $m(x_{1}^{m-1}, x_{2}^{m-1}, y_{2}) \wedge (x_{2}y_{1} + x_{1}y_{2})$ = $m(x_{1}^{m}y_{1}^{n}y_{2} + x_{2}^{m}y_{2}^{n}y_{3})$ $m(x_1^{m-1}y_1 + x_2^{m-1}y_2)$ $= m \left(\chi_1^m - \chi_2^m \right) y_1 \wedge y_2$ dfz= $\frac{\partial f_2}{\partial x} \otimes y_1 + \frac{\partial f_2}{\partial x} \otimes y_2 =$ x242+ x142 C[x]G-basis C[x]G-basis C[x] -basis (૦૦૪૩૭૫૮ને) (C[x]@K<y)

His useful to track Hilbert series for these objects
with separate gradings in C[x] using a variable g

$$\Lambda(y)$$
 using a variable t
So C[x]@ $\Lambda(y) = \bigoplus_{d_{1} = 0}^{\infty} C[x]_{d} @ \Lambda^{k}(y)$
hes Hilb $(C[x]@\Lambda(y); q, t) := \sum_{d_{1} = 0}^{\infty} q^{th} doin C[x]_{d} @ \Lambda^{k}(y)$
 $=(i+q_{q}^{q}+..)-(i+q_{q}^{q}+..)(ut)-(ut) = (i+q_{1}^{q}+2)^{n} (i+t^{1})^{n} = \frac{(i+t)^{n}}{(i-q)^{n}}$
 $=(i+q_{q}^{q}+..)-(i+q_{q}^{q}+..)(ut)-(ut) = (i+q_{1}^{q}+2)^{n} (i+t^{1})^{n} = \frac{(i+t)^{n}}{(i-q)^{n}}$
 $CSROL(ARY(to Solomon's Thun.) G = C-refingrap has$
Hilb $(C[x]^{6}, q) \cdot \sum_{k=0}^{\infty} \sum_{1 \le i \le \dots \le k \le n} \frac{tq^{i-1}}{tq^{i-1}} \frac{tq^{i-1}}{tq^{i-1}} \frac{di^{i-1}}{dt_{1}} \frac{tq^{i-1}}{dt_{1}}$
 CI_{1}, f_{1}
 $= \frac{(i+tq^{r_{1}})(i+tq^{i-1})-(i+tq^{i-1})}{(i-q^{i})(i+q^{i})-(i-q^{i})} = \prod_{i=n}^{n} \frac{1+tq^{i-1}}{i-q^{d_{i}}}$

EXAMPLE For
$$G = I_{2}(m) = G(m, m, 2)$$

with $(d_{1}, d_{2}) = (m, 2)$
 $deg(x_{1}^{m} + x_{2}^{m})$ $deg(x_{1}, x_{2})$
 $Hilb(((C(z)) = (x_{1}^{m}))^{C}; q, t) = \frac{(1+tq')(1+tq'')}{(1+q^{2})(1-q'')}$
 $(x_{1}^{m} + x_{2}^{m})$

Solomonis Thm makes magic happen when combined with ... Super-Molien's THEOREM: For any finite group G C G La(Q), $Hilb((C(x) \otimes \mathcal{M}_{\underline{g}})^{G}; q, t) = \frac{1}{|G|} \sum_{g \in G} \frac{det(I_{h} + t \cdot g)}{det(I_{u} - q \cdot g)}$ proof: Same proof as before: if we change basis to have g act briangularly on V^* so $g = \begin{cases} x_1 \\ y_1 \\ x_1 \\ x_n \end{cases}$ and some on $\begin{cases} y_1 \\ y_1 \\ y_n \end{cases}$ then it also acts triangularly on each O[x], @ NXy>

So can check that the bigraded trace of g

$$\sum_{q} dt^{k} \operatorname{Trace} \left(\mathbb{C}[x]_{d} \otimes f^{k}(y) \xrightarrow{g} \otimes \mathbb{C}[x]_{d} \otimes f^{k}(y) \right)$$

$$= \frac{(u+t)_{1} - (u+t)_{2}}{(l-q)_{1} - (l+t)_{2}} = \frac{det(I_{n} + t \cdot g^{-1})}{det(I_{n} - g \cdot g^{-1})}$$
and then
$$Hills\left(\mathbb{C}[x] \otimes f(x]_{2}, y^{+}, y^{+}\right) = \frac{1}{|G|} \sum_{g \in G} \frac{det(I_{n} + t \cdot g^{-1})}{det(I_{n} - g \cdot g^{-1})}$$

$$= \frac{1}{|G|} \sum_{g \in G} \frac{det(I_{n} + t \cdot g)}{det(I_{n} - g \cdot g^{-1})} \boxtimes$$

$$\operatorname{CorollAPCI:} \sum_{u} d^{hm}(V^{2}) = \prod_{i=1}^{n} (u+(d_{i}-1))$$

$$\operatorname{for} a \mathbb{C} \cdot \operatorname{vefn} \operatorname{group} \mathbb{G} \quad \operatorname{uith} \mathbb{C}[x]^{G} \quad \operatorname{cles} \int_{x-g}^{G} du^{-1} + \frac{1}{2} - \frac{1}{2} - \frac{1}{2} + \frac{1}{2} - \frac{1}{2} - \frac{1}{2} + \frac{1}{2} - \frac{1}$$

$$\int Subolibute
t = u(t-q)-1$$

$$\frac{1}{16!} \sum_{g \in G_{1}} \prod_{i=1}^{n} \frac{1+(u(t-q)-i)\lambda_{i}(g)}{1-q^{\lambda_{i}(q)}} = \prod_{i=1}^{n} \frac{1+(u(t-q)-i)q^{\lambda_{i}-1}}{1-q^{\lambda_{i}}}$$

$$\lim_{g \in G_{1}} \sum_{i=1}^{n} \frac{1+(u(t-q)-i)\lambda_{i}(g)}{1-q^{\lambda_{i}(q)-1}}$$

$$\lim_{g \in G_{1}} \frac{1+(u(t-q)-i)\lambda_{i}(g)}{\lambda_{i}(g)\neq 1} = \lim_{g \to 1} \frac{1-q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

$$\lim_{i=1}^{n} \frac{1-q^{\lambda_{i}-1}+u(t-g)q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

$$\lim_{i=1}^{n} \frac{1-q^{\lambda_{i}-1}+u(t-g)q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

$$\lim_{i=1}^{n} \frac{1-q^{\lambda_{i}-1}+u(t-g)q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

$$\lim_{i=1}^{n} \frac{1-q^{\lambda_{i}-1}+u(t-g)q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

$$\lim_{i=1}^{n} \frac{1-q^{\lambda_{i}-1}+u(t-g)q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

$$\lim_{i=1}^{n} \frac{1-q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

$$\lim_{i=1}^{n} \frac{1-q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

$$\lim_{i=1}^{n} \frac{1-q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

$$\lim_{i=1}^{n} \frac{1-q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

$$\lim_{i=1}^{n} \frac{1-q^{\lambda_{i}}}{1-q^{\lambda_{i}}}$$

So how to prove ... THEOREM A refin group Gruith C(x)^G = C(f, ___, fn] has (C[x] @ N(y)) G a free O[x] - module on basis Edfin. Adfire : 15ig <... < in sub Let's start by noting that each offi and hence dfy rdfk are actually G-invariant, due to ... PROPOSITION: Every g ∈ Gtn(C) commutes with d when adong on C(x) & Ky). proof: It reduces to checking gd = dg when acting on any homog. h(x) & 1 e C[x] & Ky>, since $d(h(x) \otimes y_{I}) = d(h(x) \otimes 1) \cdot (1 \otimes y_{I})$. Checking it for h(x) &1 can be done using induction on deg(h), since one has Leibniz mle: $d(h_1 \cdot h_2 \otimes 1) = d(h_1) \cdot h_2 \otimes 1 + h_1 d(h_2) \otimes 1$ And then it's easy to check when deg(h)=1 by noting $d(x; \otimes 1) = \sum_{i=1}^{\infty} \mathcal{X}_i \otimes y_i = 1 \otimes y_i \mathbb{Z}$

The G-invariance of

$$df_{n} \wedge \dots \wedge df_{n} = \left(\sum_{i=0}^{n} \frac{\partial f_{i}}{\partial x_{i}} y_{i}\right)^{n} \dots \wedge \left(\sum_{i=0}^{n} \frac{\partial f_{i}}{\partial x_{i}} y_{i}\right)^{n}$$

$$= det\left(\left(\frac{\partial f_{i}}{\partial x_{i}}\right)^{n}\right)^{n} \dots \wedge y_{n}$$

$$\int_{\mathbb{T}^{n}} \int_{\mathbb{T}^{n}} \int_{\mathbb$$

Proposition: Given a G refu group G,
the det-relative invariants inside C(2)

$$C(z)^{G,det} := (h(z)) \in C(z) : g(h) = det(g) \cdot h$$

 $= J \cdot C(z)^{G_1}$
that is, they form a free $C(z)^{G}$ submodule
of rank 1, with $C(z)^{G}$ -basis iJ .
Furthermore, $J = c \cdot T[f_1(z)^{H_1}]$ for some $c \in C^{x}$
refunds upperplanes
 H for G
and $d_{H} := |G_{H}|$ where $G_{H} := \{g \in G : g H = H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ S \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$
 $= \{1\} \cup \{ret : us \ upperplane H\}$

:

while we can directly check $C[x]^{G_{1}det} = \left\{ h(x) \in C[x] : h(f'x) = f \cdot h(x) \right\}$ $= \operatorname{span}_{C} \left\{ x^{j} : (f^{-1}x)^{j} = f \cdot x^{j} \right\}$ $= f - 1 \mod d$ $\int_{J} = d - 1 \mod d$ $\int_{J} = \int_{J} \cdot C[x^{d}]$ $= \int_{J} \cdot C[x^{d}] \operatorname{since} J = \det \left[\frac{\partial}{\partial x} (x^{d}) \right] = d \cdot x^{d-1}$

proof of PEOPOSITION: 1st prove
(IAM: Any
$$h(x) \in C[x]^{G_1 \text{ det}}$$
 is drivible by $\prod_{H} d_{H^{-1}}$.
This is equivalent by unique factorization, to
showing it is divisible by each $l_{H^{-1}}^{d_{H^{-1}}}$ Changing bases
 $\mathcal{H}_{i, -\mathcal{T}_{i}}$ in V^* , assume $l_{H}(x) = \ker(\mathcal{H}_{i})$
and $s = e_{i} \begin{bmatrix} s_{1} & 0 \\ 0 & \cdot \end{bmatrix}$ with $g = e^{2\pi i M}$ where $d = d_{H}$
 $generodes \ G_{H} = \{1, s, s_{3}^{2}, ..., s_{d^{-1}}\}$
and an V^* , $s = \prod_{i=1}^{M} \begin{bmatrix} s_{1} & 0 \\ 0 & \cdot \end{bmatrix}$

Then can check as in above
$$\mathsf{Example}$$
 that
 $h(\underline{x}) \in \mathbb{C}(\underline{x}]$ has $s(h) = \mathsf{def}(s) \cdot h = g \cdot h$
 $\iff \mathsf{eveny} \text{ monomial } X_1^{a_1} X_2^{a_2} \dots X_n^{a_n} \text{ in } h(\underline{s})$
 $has \quad a_1 \equiv \mathsf{d} + \mathsf{mod} \; \mathsf{d}$
 $\implies \chi_1^{\mathsf{d}-1} \; \mathsf{dv} \mathsf{rides} \; \chi_1^{a_1} \chi_2^{a_2} \dots \chi_n^{a_n}$
 $\implies \chi_1^{\mathsf{d}-1} \; \mathsf{dv} \mathsf{rides} \; h(\underline{x}), \text{ proving CLAIM}.$

Now since
$$J = def\left(\frac{\partial f_{j}}{\partial x_{i}}\right) \in \mathbb{C}[x_{i}]^{G_{j}} det$$
,
the CLAIM shows $\Pi \downarrow_{H}^{d_{H}+1} divides J$.
But they have same degree:
 $deg J = \sum_{i=1}^{n} (d_{i-1}) = \#refins = \prod_{H}^{m} (refins M) (G through H) = \int_{H} (d_{i-1}) = deg \Pi \downarrow_{H}^{d_{H}-1}$.
Also $J \neq 0$ since f_{1} , f_{1} are alg. indep.
(not so obvions ; see Humphreys $s_{3,10}$ for guick proof)
Hence $J = c \cdot \Pi \downarrow_{H}^{d_{H}-1}$ for some $C \in \mathbb{C}^{\times}$.
And CLAIM shows $\mathbb{C}[x_{i}]^{G_{i}} det = \Pi \mu_{H}^{d_{H}-1} \cdot \mathbb{C}[x_{i}]^{G_{i}}$
 $= J - \mathbb{C}[x_{i}]^{G_{i}}$

C[x]⁶-linear independence of {df_}: His enough to draw they're ((x)-lin. indep. inside the (XX)-vector space ((x) & NXY). $(f \qquad \sum_{T} h_{I}(x) df_{I} = 0 \quad \text{for some } \dot{h}(x) \in \mathbb{C}(x)$ chen for each k-subset Io c {1,2,-,n}, let Io:= {1,2,-,n} \ Io, and mutt. by df_c: $\sum_{T} h_{I}(x) df_{I} \wedge df_{I_{e}} = 0$ vanishes unless I=Io, due to a repeat df; ~ df; = 0 $h_{I}(x) df_{I} \wedge df_{I} = 0$ = $\pm h_T(x) \cdot J dy_n \dots dy_n$ = the unique C(x) -basis element of C(x) ONKY $h_{I}(x) \cdot J = 0$ J since J≠0 h_I(x)=0 for all Io.

The {df_} C[x] - span (C[x] @ / k(y))G: Note the above lin. independence, together dim - connting shows that idfig are a C(x)-basis for C(x) or Nexy? Hence given any $\omega \in (\mathbb{C}[\mathbb{X}] \otimes \mathbb{N}^{\mathbb{K}} \times \mathbb{Y})^{\mathbb{G}}$ $(C C(x) \otimes \Lambda^{k} \langle y \rangle)$ one can write it as $\omega = \sum_{T} h_{I}(X) df_{I} \quad \text{if } h_{I}(X) \in \mathbb{C}(X)$ and then by applying TG, > $\omega = \pi_{\mathcal{G}}(\omega) = \sum_{T} \pi_{\mathcal{G}}(h_{I}(x)) \cdot df_{I}$ we can assume $\pi_{G}(h_{I}(x)) = \frac{P_{I}(x)}{q_{I}(x)} \in \mathbb{C}(x)^{2}$ As before, fix a k-subset Ioc 11,2, -, n] and mutter by dfjc :

